



International Journal of Research Publication and Reviews

Journal homepage: www.ijrpr.com ISSN 2582-7421

On Homogeneous Cubic Equation with Five Unknowns

$$x^3 + y^3 = 13(z + w)P^2$$

A. Vijayasankar¹, Sharadha Kumar², M.A. Gopalan³

¹Assistant Professor, Department of Mathematics, National College, Affiliated to Bharathidasan University, Trichy-620 001, Tamil Nadu, India.

email: avsankar70@yahoo.com

^{2*}Research Scholar, Department of Mathematics, National College, Affiliated to Bharathidasan University, Trichy-620 001, Tamil Nadu, India.

email: sharadhak12@gmail.com

³Professor, Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy-620 002, Tamil Nadu, India.

email: mayilgopalan@gmail.com

ABSTRACT :

The homogeneous cubic equation with five unknowns given by $x^3 + y^3 = 13(z + w)P^2$ is considered for obtaining its non-zero distinct integer solutions through employing linear transformations.

Keywords: homogeneous cubic, cubic with five unknowns, integer solutions

Introduction:

The theory of Diophantine equations offers a rich variety of fascinating problems. In particular, cubic equations, homogeneous and non-homogeneous have aroused the interest of numerous mathematicians since antiquity [1-3]. For illustration, one may refer [4-13] for homogeneous and non-homogeneous cubic equations with three, four and five unknowns. This paper concerns with the problem of determining non-trivial integral solution of the non-homogeneous cubic equation with five unknowns given by $x^3 + y^3 = 13(z + w)P^2$.

Method of analysis:

The homogeneous cubic equation with five unknowns to be solved is

$$x^3 + y^3 = 13(z + w)p^2 \quad (1)$$

Substitution of the linear transformations

$$x = 13(u + v), y = 13(u - v), z = u + d, w = u - d, p = 13q \quad (2)$$

in (1) leads to

$$u^2 + 3v^2 = q^2 \quad (3)$$

Solving (3) through different ways, the corresponding values of u, v, q are obtained.

Substituting these values in (2), the respective solutions to (1) are determined.

The above process is illustrated below:

Way 1:

It is observed that (3) is satisfied by

$$v = 2rs, u = 3r^2 - s^2, q = 3r^2 + s^2 \quad (4)$$

In view of (2), the corresponding integer solutions to (1) are given by

$$x = 13(3r^2 - s^2 + 2rs)$$

$$y = 13(3r^2 - s^2 - 2rs)$$

$$z = 3r^2 - s^2 + d$$

$$w = 3r^2 - s^2 - d$$

$$p = 13(3r^2 + s^2)$$

Way 2:

Represent (3) as the system of double equations as in Table:1 below :

Table: 1 System of double equations

System	I	II	III	IV
$q + u$	$3v^2$	v^2	1	3
$q - u$	1	3	$3v^2$	v^2

Solving each of the above system of equations in Table:1, the values of q, u, v are obtained.

Using these values in (2), the corresponding integer solutions to (1) are found .For brevity, the respective solutions to (1) are exhibited as below:

Solutions from system I:

$$x = 13(6k^2 + 8k + 2)$$

$$y = 13(6k^2 + 4k)$$

$$z = 6k^2 + 6k + 1 + d$$

$$w = 6k^2 + 6k + 1 - d$$

$$p = 13(6k^2 + 6k + 2)$$

Solutions from system II:

$$x = 13(2k^2 + 4k)$$

$$y = 13(2k^2 - 2)$$

$$z = 2k^2 + 2k - 1 + d$$

$$w = 2k^2 + 2k - 1 - d$$

$$p = 13(2k^2 + 2k + 2)$$

Solutions from system III:

$$x = 13(-6k^2 - 4k)$$

$$y = 13(-6k^2 - 8k - 2)$$

$$z = -6k^2 - 6k - 1 + d$$

$$w = -6k^2 - 6k - 1 - d$$

$$p = 13(6k^2 + 6k + 2)$$

Solutions from system IV:

$$x = 13(-2k^2 + 2)$$

$$y = 13(-2k^2 - 4k)$$

$$z = -2k^2 - 2k + 1 + d$$

$$w = -2k^2 - 2k + 1 - d$$

$$p = 13(2k^2 + 2k + 2)$$

Way 3:

Write (3) as

$$u^2 + 3v^2 = q^2 * 1 \quad (5)$$

Assume

$$q = a^2 + 3b^2 \quad (6)$$

and 1 on the R.H.S. of (5) is written as

$$1 = \frac{(1+i\sqrt{3})(1-i\sqrt{3})}{4} \quad (7)$$

Substituting (6) & (7) in (5) and employing the method of factorization ,define

$$u + i\sqrt{3}v = \frac{(1+i\sqrt{3})(a+i\sqrt{3}b)^2}{2} \quad (8)$$

Equating the real and imaginary parts in (8) ,the values of u and v are obtained.

In view of (2), the corresponding values of x ,y ,z ,w and p are determined and they are as below:

$$\left. \begin{aligned} x &= 13(a^2 - 3b^2 - 2ab) \\ y &= -52ab \\ z &= \frac{(a^2 - 3b^2)}{2} - 3ab + d \\ w &= \frac{(a^2 - 3b^2)}{2} - 3ab - d \\ p &= 13(a^2 + 3b^2) \end{aligned} \right\} \quad (9)$$

As our interest is on finding integer solutions observe that both a and b should be of the same parity in (9).

Note : 1 The integer 1 on the R.H.S. of (5) may also be represented as follows:

$$1 = \frac{(1+i4\sqrt{3})(1-i4\sqrt{3})}{49}$$

$$1 = \frac{(3r^2 - s^2 + i\sqrt{3} 2rs)(3r^2 - s^2 - i\sqrt{3} 2rs)}{(3r^2 + s^2)^2}$$

Following the above procedure two more sets of integer solutions to (1) are obtained.

Way 4:

Rewrite (3) as

$$q^2 - 3v^2 = u^2 * 1 \quad (10)$$

Assume

$$u = a^2 - 3b^2 \quad (11)$$

and take 1 on the R.H.S. of (10) as

$$1 = (2 + \sqrt{3})(2 - \sqrt{3}) \quad (12)$$

Substituting (11) & (12) in (10) and applying the method of factorization, define

$$q + \sqrt{3}v = (a + \sqrt{3}b)^2 (2 + \sqrt{3}) \quad (13)$$

Equating the rational and irrational parts, we have

$$v = a^2 + 3b^2 + 4ab$$

$$q = 2a^2 + 6b^2 + 6ab$$

In view of (2), the integer solutions to (1) are given by

$$x = 13(2a^2 + 4ab)$$

$$y = 13(-6b^2 - 4ab)$$

$$z = a^2 - 3b^2 + d$$

$$w = a^2 - 3b^2 - d$$

$$p = 13(2a^2 + 6b^2 + 6ab)$$

Note: 2

The integer 1 on the R.H.S. of (10) may also be represented as follows:

$$1 = (7 + 4\sqrt{3})(7 - 4\sqrt{3})$$

$$1 = \frac{(3r^2 + s^2 + \sqrt{3}2rs)(3r^2 + s^2 - \sqrt{3}2rs)}{(3r^2 - s^2)^2}$$

Following the above procedure two more sets of integer solutions to (1) are obtained.

Way 5:

Introduction of the linear transformations

$$u = X + 3T, v = X - T, q = 2R \quad (14)$$

in (3) leads to

$$X^2 + 3T^2 = R^2$$

which is satisfied by

$$T = 2ab, X = 3a^2 - b^2, R = 3a^2 + b^2 \quad (15)$$

Using (15) in (14) and employing (2), the integer solutions to (1) are found to be

$$x = 13(6a^2 - 2b^2 + 4ab)$$

$$y = 104ab$$

$$z = 3a^2 - b^2 + 6ab + d$$

$$w = 3a^2 - b^2 + 6ab - d$$

$$p = 13(6a^2 + 2b^2)$$

Note: 3

Instead of (14), suppose we have the transformations

$$u = X - 3T, v = X + T, q = 2R$$

In this case, the corresponding integer solutions to (1) are found to be

$$x = 13(6a^2 - 2b^2 - 4ab)$$

$$y = -104ab$$

$$z = 3a^2 - b^2 - 6ab + d$$

$$w = 3a^2 - b^2 - 6ab - d$$

$$p = 13(6a^2 + 2b^2)$$

References:

- [1] L.E. Dickson, History of Theory of numbers, vol.2, Chelsea Publishing company, New York, 1952.
- [2] L.J. Mordell, Diophantine Equations, Academic press, London, 1969.
- [3] Carmichael.R.D, The Theory of numbers and Diophantine Analysis, New York, Dover, 1959.
- [4] .M.A.Gopalan and S.Premalatha , Integral solutions of $(x + y)(xy + w^2) = 2(k^2 + 1)z^3$ Bulletin of pure and applied sciences, Vol.28E(No.2),197-202, 2009.
- [5]. M.A.Gopalan and V.pandiChelvi, Remarkable solutions on the cubic equation with four unknowns $x^3 + y^3 + z^3 = 28(x + y + z)w^2$,Antarctica J.of maths, Vol.4, No.4, 393- 401, 2010.
- [6] M.A.Gopalan and B.Sivagami, Integral solutions of homogeneous cubic equation with four unknowns $x^3 + y^3 + z^3 = 3xyz + 2(x + y)w^3$ Impact.J.Sci.Tech, Vol .4 No.3, 53- 60, 2010
- [7] M.A.Gopalan and S.Premalatha , On the cubic Diophantine equation with four unknowns $(x - y)(xy - w^2) = 2(n^2 + 2n)z^3$, International Journal of mathematical sciences, Vol.9,No.1-2, Jan-June, 171-175, 2010.
- [8]. M.A.Gopalan and J.KaligaRani, Integral solutions of $x^3 + y^3 + (x + y)xy = z^3 + w^3 + (z + w)zw$, Bulletin of pure and applied sciences, Vol.29E (No.1), 169-173, 2010.
- [9]. M.A.Gopalan and S.Premalatha Integral solutions of $(x + y)(xy + w^2) = 2(k + 1)z^3$, The Global Journal of applied Mathematics and Mathematical sciences, Vol.3, No.1-2, 51-55, 2010.
- [10]. M.A.Gopalan, S.Vidhyalakshmi and T.R.Usha Rani , On the cubic equation with five unknowns $x^3 + y^3 = z^3 + w^3 + t^2(x + y)$, Indian Journal of Science, Vol.1, No.1, 17-20,Nov 2012.
- [11]. M.A.Gopalan, S.Vidhyalakshmi and T.R.Usha Rani , Integral solutions of the cubic equation with five unknowns $x^3 + y^3 + u^3 + v^3 = 3t^3$, IJAMA, Vol.4 (2), 147-151, Dec 2012.
- [12]. M.A.Gopalan, S.Vidhyalakshmi and G.Sumathi, On the Homogeneous Cubic Equation with four unknowns $x^3 + y^3 = 14z^3 - 3w^2(x + y)$, Discovery, Vol.2(4), 17-19, 2012
- [13] M.A.Gopalan, S.Vidhyalakshmi and G.Sumathi, On the Homogeneous Cubic Equation with four unknowns $x^3 + y^3 = z^3 + w^2(x + y)$, Diophantus J.Math, Vol.2(2), 99 -103, 2013.